Year Six Securing Maths Skills 6

Task: Monday Tuesday Wednesday Thursday Friday

Write in Twenly one million nine | Ten million bwenky Five hundred and five | Sexventy million five Three hundred .and one

Muz&, hundred and two thousand .and twenkty thousand three hundred .and forky six | million two hundred
thousand three nine point zero seven | hundred and fifky poink and thirty thousond
hundred and seventy 2ight five seven hundred and
three two point tw.o

Mudtiply: 6327 x 38 5419 x 53 4729 x 29 9389 x 64 7883 x 87

Divide: 8096 + 44 8491l + 19 3681 + 27 3591 + 36 5466 + 16

Use division to | 3 S ] 1 4 9

find the 3 7 IA 2 [

decimal

equivalent to




Find the Beb 131 5..97 3. 17
ansawer to: q 8 5 5 7 21 16 4
Find the 4 5 7 7 18><3
answer to: 57 11 12 A

Find the .area:

e
i
|




Task: Monday Tuesday Wednesday Thaursday Friday
Wride in Twenty one milllon nine | Ten million bwenky Fve hundred and five Sewvenly mulion five Three hundred and one
M“m" hundred and two Lthousand and lwenty thousand theee Jundred and forty six million two hundred
thovsand three nine point gero ASawven hundred and Sy point and thirky thousand
hundred and sevenby zight five sewen hundred ond
threo Lwo poink bwo
21902373 {co20029.07 505350.85 70000546 3012307022
Mudbinly: 6327 x 38 5419 x 53 4729 x 29 9389 x 64 7883 x 87
240626 287207 i27140 £00896 685821
Disride: 8096 =+ 44 891l = 19 3681 = 27 35491 = 36 5466 = 16
84 469 i36.3 99,75 341.625
(Reciwring)
Use division o | 3 5 9 7 q
find the 3 b & & 2 1
decimal
equivalent Lo 0._231 Q.74 0.543 0.583 0.8i8
(o 3 d.p):
Find the L1 |3 8,5 313_1 5 27 - JER
_ B I — i et
answer to: LAY 9 i 8 [E 707 '16 4
7 | 109 37 5 2 71 b q93 I3
£ 9. _— or |I== = o 4 - o I A s
g & 3 72 72 - i = 3 16 I3
Find the L 7 L 5 7 7 13 3
D5 — = g R =<4 18 %
answer Lo: 97712 5 7 I 12 16 L
F 8 .. 3 L9 E )
27 25 25 132 6L x f
Find the .area: i T ! A i f i ?
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